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1- Determine whether this statement is
"True or False". Give reasons.

The learning efficiency increases if learning a

certain subject affects positively by learning

another subject.

Statement ( )

Reasons:

A5 5 ylat Bas of Ol guo s -
s Jdallf 2o

£.94090 @lad OIS 13) @da! 3¢ LS 31333

3T gaidge alal g Luslawst 533 (pene

( ) +3 ylalt

s el




2- Searching for other ways to hit the target | Jouwslt ¢ 31 3 ko ipe Cioudf day - ¥
and .replacing the target tg another are ks Cotgh JI Ll gicBuig o1
considered as one of the direct ways for

adaptation. - 3215 3 dilialt el (e

Explain Cuuys Lo £ 9 53 (42 ya!




3- Answer only (A) or (B) () 91 (1) e i =Y

A- If you were an Arabic teacher, how would | s d_g yat) 44l Lalae &S o3 -
you improve the linguistic intelligence to | g4 Gs-all ¢ ISAY AalS ELiSan
your students? $Sbids

B- How can you get benefit of the educational | o= 33laiu¥) (Se a8 -0
applications of the Theory of Learning | 4ol A, Ol
by Understanding and Insight in your | <& $sladudy eealls pladl!

Jo 35 & My

educational life?

Three points are enough




4- Determine whether this statement is | 4G%1 5 lal ks of Ofgw s> ¢
"True or False'. Give reasons. 1 Al pe
The pre - school child can control his Kinetic | awjydtalt J-3 Lo Jabo adatuy
performance. -oS 01 A31aT (B @St AG )AL Y
Statement ( ) ( ) 13—l
Reasons: P |

4



5- Achieving a mature relationship with | dsst 2483e Gaxi" o IS dan -0

companions and a sexual identity are
from the essential requirements in the
Adulthood stage.

Justify

il Raga Gudioni g B ae
AU po 3 Acwla™ Clllagtl (o
5)laal! Buio j - . ABD| ol




6- Answer only (A) or (B) () 9l (1) e ol -1
A-The Information Processing Theory depends | astlaay jugad agad Sdleiel -f

on hypotheses to achieve learning. OLaI B e Hle Ologlaal
Justify AED 3 elal) gt

B- The type of obstruction and the previous | 331y (@slall go3 (e JS day o
experiences are factors that affect the result | 2255 i Jalgall (o ddLud!

of the conflict and frustration. ST g ally dobin W1 LG Lgde
Prove 3kl Be
6



7- Determine whether this statement is | aG% 5)lat ks o Ol g s> - V

"True or False'. Give reasons.

zd.j.\al”&ﬁ

The concept of "the personality as stimulus" | edaiitly »CleS dua>il p ggae min)

focused on the inner organization of the person.
Statement ( )
Reasons:

<Al s il
( ) 18—l
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8- Give an example for: e MW -0 CusH -1 1 (o JSI ¥ Lladac] -A
Repression, Evolution and Projection as | 3jilw mé codlulS .dobu¥l -
indirect methods to adaptation. .39 gl




9- Mass media is an effective factor in the | Jetgatt asi aMe¥i Jolwg dal -4
growth U D g - gl G855 5at1
Explain




10- Determine whether this statement is | s)lalt Uas 5 Cligw dd>- )

"True or False". Give reasons.
The effect of crowd on the personal psychology
is considered as a behavioural component to
the attitude.
Statement ( )
Reasons:

1 Judaid) pe AGY
ATl e Al a)¥W B ey

oo S S alus (59500 Attt
( ) 13—l
t el




11- Determine whether this statement is
"True or False". Give reasons.

The social interaction has a great importance

in the life of the individual, the group and the

society.

Statement ( )

Reasons:

Sylualt Las o Olgmo o)

1 Jlaild) ae S
P S-S Aen] poleda ¥ Jolait
coinallg dolentlg 3yt Sl
( ) 13 )l—all
s Sl




12- Indicate what is meant by the following | Slotaadly Jgaial! sda-\Y
terms: 1 Gy

A- Social Adaptation. ploalt -0 . o lelin Wl o &t -

B- Social conflict. -elaia ¥

C- Social competetion el ¥ quala -




13- How can we employ the scientific research | gelal! Cond| cadssi (Sas oS- \ ¥
in serving the development plans? P50 § Akl Lyliad Aadint
3 are enough (&sdka




14- Determine whether this statement is

3)\.3.13‘“9&339‘3.@&4:.- \¢

"True or False". Give reasons.
The social phenomenon is formed by the
individual inspiration.
Statement ( )

Reasons:

1 Jlald) 2e ASY
A Lo 3 Al ydald
-2 a1 Jaall (8 > 93
( ) 23 )Lt
¢ JmelaH




15- Answer only (A) or (B): 1(2) 9l (1) e i -\ 0
A- Rationalize application is one of the | ailsy asi Godaltt il S (1)
functions of the Social Theory. ¥lie dac . duc Laia W1 A A1

B- Give an example to indicate: eI
The voluntary behaviour and the voluntary | <t sludf (oo IS quidis ¥l Sl ()
action. e lailt Jadt (e gl

15



16- Satelite Tv and cellphones are means of | gty (Oldlaal Jad-\%
globalization. AST . Aet galt LT (e Jganal
Prove 5 )ylalt e




17- Determine whether this statement is | )t Las i Oigo sds-\YV

"True or False'. Give reasons.

s Julal | g LG

Sociologists and Anthropologists focused on | kas!s2a,0¥ 15 elaia¥! ¢ Lele wial

studying the most progressed civilizations
Statement ( )
Reasons:

SLenad aS¥ Oyl Ay
( ) 13 Lt
s Jdlal




18- Answer only (A) or (B): (@) 9l (1) (e e =V A
A- Social relationships are the base of the | (wlwi dwelain¥ SLAMAM Aad -
social life. (o A lain ! 3Lt

Prove 3 ylealt
B- The responsiblity of the freelance work is | oo 1 J—ealt dd glun 255 -0
the individual’s responsibility. Mo .l 3 a0 GSle
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Analyse |
18



19- There are various visions of Culture. LABE Ly Adlatiel! (67,1 Oiackal -1 4
Explain Cowya La ¢ gud (S8 43 52




20- Determine whether this statement is | 3l Uas ol Olguo sds- Y
"True or False'. Give reasons. s Jdaid| ae AGY
The absolute hatred is a behavioural feature of | Glew!| dsi Aalkaet) Al W53 Jad
the extremist. @ platell A8 glut
Statement ( ) ( ) 3 yl—salt
Reasons: P |
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